
Agilent Technologies

Agilent E5810 LAN/GPIB Gateway
Agilent E5818 LXI Class-B Trigger Box

Rack Mount Installation Note

One rack mount kit contains the hardware to mount a single E5810/E5818 or two E5810s/E5818s, side-by-side.

Advanced Test Equipment Rentals
www.atecorp.com  800-404-ATEC (2832)

®

Established 1981



Rack Mounting Single E5810/E5818 (see other side to rack mount two 
E5810s/E5818s)

1. Remove both rubber bumpers from the E5810/E5818.

2. Using Pozidriv screwdriver, attach Rack Ear-Half Rack (B) to the E5810/E5818 with three M4x10 Panhead 
Screws (C).

3. Using Pozidriv screwdriver, attach Rack Ear-Full Rack (A) to the E5810/E5818 with three M4x10 Panhead 
Screws (C).

This rack mount is suitable for both E5810 and E5818 units.

E5810 E5818

Parts needed to install a single E5810/E5818 in a rack:

A E5810-00021 Rack Ear - Full Pack 1 D 0570-1581 Screw, Machine 4

B E5810-00022 Rack Ear - Half Rack 1 E 0590-0804 Nut, Machine 4

C 0515-1114 Screw, Panhead, M4x10 6

Rubber BumpersRubber Bumpers

B

C

C

A

2



4. Do the connections based on the diagrams below:

5. Using Philips screwdriver, attach Rack Ears to rack with four Machine Screws (D) and four Machine Nuts (E).

A. Rear View of the E5810 B. Rear View of the E5818

Connect GPIB and RS-232 cables. Plug AC Power cord 
into AC Power port on the E5810.

Connect BNC cables. Plug AC Power Cord into AC Power 
port and the E5818.

GPIB RS-232 Power

LAN Ln

Tx GP IB

R
tRS232

POWER

!

1PPS 100-240VAC
 50-60Hz 25VA

RS232
LAN

Act
Ln

ICES/NMB-001
ISM 1-A

N10149 C US
206349

EXT 1
    IN

TTL 1
OUT

EXT 2
IN

TTL 2
OUT

D

 Rack Cabinet
Part of

fou r Mach ine  Nu ts (E ).

D

E

Right V ertical Ra il

E

Le ft V ertica l R ail
(Front)

(Fron t)

GPIB RS-232 Power
TTL2 EXT2 TTL1 EXT1 1PPS  Power
OUT IN OUT  IN
3



Rack Mounting Two E5810s/E5818s (see other side to rack mount single 
E5810/E5818)

1. Remove both rubber bumpers from the E5810/E5818.

2. Using Pozidriv screwdriver, install a Lock Link (A) on each E5810/E5818 with a Flathead Screw (G). Then, slide 
the two E5810s/E5818s together so the Lock Links interconnect. See detail “A”.

3. Using Pozidriv screwdriver, remove the screw at the rear of each E5810/E5818. Then, connect the Rear Bracket 
(B) to each E5810/E5818, using the screws you just removed.

4. Using Pozidriv screwdriver, attach Rack Ear-Full Rack (C) to each E5810/E5818 with six M4x10 Panhead Screws 
(D).

Parts needed to install two E5810s/E5818s, side-by-side, in a rack:

A 0050-2166 Lock Link 2 E 0515-1367 Screw, Flathead, 
M4x8

2

B E5810-00023 Bracket, Rear 1

C E5810-00021 Rack Ear - Full Rack 2 F 0570-1581 Screw, Machine 4

D 0515-1114 Screw, Panhead, M4x10 6 G 0590-0804 Nut, Machine 4

Rubber BumpersRubber Bumpers

Detail "A"

G

A

A

D

C

D

C

B

Rear B racket (B) to each E5810, us ing the screws you just removed.

 E
4



5. Do the connections based on the diagrams below:

6. Using Philips screwdriver, attach Rack Ears to rack with four Machine Screws (F) and four Machine Nuts (G).

A. Rear View of the E5810 B. Rear View of the E5818

Connect GPIB and RS-232 cables. Plug AC Power cord 
into AC Power port on the E5810.

Connect BNC cables. Plug AC Power Cord into AC Power 
port and the E5818.

GPIB PowerRS-232

LAN Ln

Tx GP IB RS232

POWER

!

1PPS 100-240VAC
 50-60Hz 25VA

RS232
LAN

Act
Ln

ICES/NMB-001
ISM 1-A

N10149 C US
206349

EXT 1
    IN

TTL 1
OUT

EXT 2
IN

TTL 2
OUT

E

P art o f
 R a ck  C a b ine t

E

R ig h t V er tica l R a il

F

(Fron t)

F

L e ft V e r tica l R a il
(F ro n t)

 
G

 
G

 F

 
F

GPIB RS-232 Power
TTL2 EXT2 TTL1 EXT1 1PPS Power
OUT IN OUT  IN
5



© Agilent Technologies, Inc. 2004 − 2008

Printed in Malaysia
Third Edition, January 31, 2008

E5810-99100
Agilent Technologies




